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77 According to Hygens theory, light travels in the form of

(1) Waves (2) Corpuscler

(3) Some times waves and some times corpuscler (4) Electromagnetic waves
S Soroddui siaiod Fod  patreibos.

(1) adoffmey $

(3) Edyrd ssorramis, (4) Deydatiqos sdormeur

ma&*a;,' Al Seduoeurmis

78  To get interference phenomenon, the distance the two sources must be
(1) Less to the extent possible () More
i3) Less or more 4) Phenomenon does not depend on the distance
fpBdce Hlol ooBsS). Tod miwe Ay drdo ¥
(1) Swowbos ddydm aossn, (2] 558 scases
(3) ddpa B8 Jdgd (4) spetano sieo g drdo e werdidd

20 dynes when they are placed 20 cm apart.
cm to 5 em, the force of repulsion between

79  The repulsive force between two magnetic poles
If the distance between them is decreased from 2
them is
Muﬂﬂgmﬁw&%dﬂo!ﬂmm a5
arovdy 20 hoad. o8 5 hod. o spodsst
(1) 80 dynes (8D Bau) 2
(1) 160 dynes (160 Bg

80  Ewven after the removal of the applied
intensity of magnetisation. This property is called
(1) Susceptibility (2
(3) Retentivity 4
L8 woldmod dcrdo #5808 wobhimoBldno &
watimod Bpdh Drban®d derody Dot 7
(1) Anbobd
(3) BBosDed

81 Which one of the following groups belong 1o
(1) Water, Brass, Gold
(3) Iron, Cobalt, Nickel 4

oD fugp fe JEge voo 20 3. D Dy
fucy e Jegm weo

320 dynes (320 @i

40 dynes (40 Bz

a magnetic material retains certain amount of

g waldod Herd) Shilbir. d5d' Fod

wonidm o8 (bowm
o fegs
5
Alcohol, Oxygen, Platinum

Bod Sdurirduod’ W woldmod Slarirdy
(1) P =44, worrddu (2} wepird el geato
(3) =div, Sod 285 (4) nas*dato. sarghloto. Easo

%2  The units of magnetic flux density
(1) Weber'metre (2) Webermetre? (3
wolidn 08 wlodr okt Earmdy
(1) 208§ S (2) 208 ¢ hwdsd (3} B - Bty {4}m-w
83  Among the following wires made of the same matefial, which wire will have highest resistance

Weber—metre (4) ‘Weber-metre?

() I=lm d=1mm? (=12 A=125%) ) I=1m, A= 2 mm® {1=1% 4=22%"
) I=2m, A=2mm* (=22 A=23L")
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Ten identical resistances, each having a resistance of 1 {1 are joined in parallel. The combination has
the resultant resistance of
B S 10} Jend Ao 10 Deresh Sdroddorm B0GEHA. 308 Wse

(1) 100 2y 10 (3) 001852 4) 010
Gram/Coulomb is a unit for

(1) Potential difference (2) Specific resistance

(3) Electromagnetic force (emf) {4) Electrochemical Equivalent (e.c.e)
r [ drenll eduds 308 Birmo

(1) FEand dao (2) 283 28'go

3 :-:SJSEJ:I:J.E B0 4 diph darolis diergoso

The work done in passing a current of 4 A for 2 seconds through a conductor having a potential
difference of 8 V is

L8 irfod® 8 Leve D00 Podudy 4 woboly Dl @adrdn 2 Teg i Eiled wed 20
(1) 4 Joules (2 ey (2) 16 Joules (16 &y

(3) 64 Joules (44 2y 4) 1 Joule (1 &)

A step-up transformer is used on a 120-volt line to provide a potential difference of 2400 Volis at
2 Ampere current. If the primary has 100 tums, the number of turns in secondary are

uf :_;5--551-53.-)-6;5:“ lm@mmhmm,zwmﬁ&pﬁﬁsz
Pafand o DeyA8. Berd Htod"D iy oy 100 wandad Me dgte 6% Sy dowg

(1) 2000 (2) 200 {3) 400 (4) 1000

An instrument used to measure [sotopic masses is known as

(1) Calori meter (2) Spectrometer

(3) Mass spectro graph (4) Sphero meter

S Ge iporbod ot Aldrhed H8s6

(1) 26% dowds (2) e s

(3) et Sgoe 290 #) met bk

The isotope of carbon used in carbon dating of finding the age of fossiles is

=S B 2 foere daliind Saxuidodd add@rhod sy o'y

(1) C-14 2) C-12 () C-13 (4) C-15

Among the following, choose the incomect statement

(1) A p-njunction diode conduets in forward bias

{2) A p-njunction diode offers less resistance under reverse bias

{3) A p-njunction diode does not conduct under reverse bias

{4) A p-njunction diode is used as an electric switch

Bod i S8e0 Jddoi JanEd

(1) e wodrld® pn sofiy dolrd ddpdd Etrod Soxui,

(2) Qed woirhd® wf pn 2ost ddrd wery AG'Er Seorsiotod

(3) it worbes® o pn uoff dard Mdpdh Gitrod Sand.

(4) p-neogd ddirde Sl helm odddng.
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SECTION - I (CHEMISTRY)

9]  The atom of the element which shows half filled d-orbitals
(1) Vanadium (2) Zinc (3) Chromium {4) Copper
pihform o Dodd dubyergi Srd dored J6immd 20 7
(1) s38c00 (2) =c8 (3) E*ono (4) oh
92  The symbol of the element with the outer elecironic configuration of 4s', placed in S—b]ock.is
45! Jezmf Jrpiol® wodior S4pf durediu dlug) Sclsde :
(1) Na (2) Sc (3 K {4) Rb
93  The element, which shows three unpaired electrons in its atom, in ground state is
drirond® &3 S0, aded diund® furds sotd Jogiid dry durosin
(1) B (2) Be (3) F 4) N
94 Mention the total number of electrons present in the p-orbitals of the atom, having atomic number 15
Sadirm Sopg 15 fo furet) Sddrahd® fo Budo palyrgd fio Jugag dogg Jod ?
(1 3 2 9 (3) 2 (4) §
05  The bonds present in N‘H; ion are
(1) One ionic bond, three covalent bonds
{2} One covalent bond, three coordinate bonds
(3) Omne ionic bond, three coordinate bonds
(4) Three covalent bonds, one coordinate bond
NH; walrSd® e pogdven
(1} o8 warsld wogo, furd Sdudlredon wogren
(2) o8 aciradod wogo, Murd dbtel Abdredad wogre
(3) 28 wolrdd wogo, furds 2Euigad Adodlredol wome
(4) furds Fodredol nomm, Lf Sdiad Sudredod pogo
95  One of the following phenomenon takes place in the formation of NaCl molecule
(1) Naatom acts as oxidising agent {(2) Clatom acts as oxidising agent
{3) Cl atom acts as reducing agent {4) They undergo neither oxidation nor reduction
Fhoto B'PE wmip ddydued” edit Sdy Hod
(1) #dotic abghde (ot (2) 288 wbddelm Sddalen
(3) E'8F gotebdr ddSofud (4) elygdo md goossm Sy md wdiid
CEEP-2012_A] 12 0 TR NN contd...
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97  If the positive ion configuration s | 52 2 5% 2p® and the negative ion configuration is | s? 2% 2p°
in an ionic compound, then what is the molecular formula of the compound
15 molrdé Sorgod® g8 wall daglo 157 257 2p® Suboty dusree wotrl Do 15?25 2p®
wond, o Sorgy e arduger o8

(1) KF (2) MaCl (3) NaF 4y KCI
9% The period which contains s, p, d block elements
(1) 2™ period (2) 3" period (3) 4% period (4) 1% period
s.p.d orf furemrandy hBonE
() 25 baaos (2) 3 beonk (3) 42 beoth (4) 18 bhans
99 lonisation energy of nitrogen is higher than jonisation energy of oxygen. This is due to
(1) Decrease in the atomic radius {(2) Increase in the atomic radius
(3) Stable electron configuration (4) Completely filled orbital
PSS Gug; scilEde 43 Dud el g0l Jigd wdmo
(1) adarm opirdo drido (2) sgarm apdngo bdvbb
(3} 6 Jogyd Jogddw (4) irar Jobs wdyrd sods

100 Which of the following pair of atomic numbers indicate the elements of the 'S' block 7
6 B8 IS D md furose Sohre Soggen 'S o droroils Ardipon 7

(1 11,13 2y 10,12 (3 11,12 4) 8,9
101 Atoms with small size have
{1} High ionisation energy {2) Great tendency to loose electrons
(3) More electropositive {4) Less electron affinity values
dédmm Sbdrmin Shpdm 4 Stbrmde
(1) wondssem 42 Jdysm dotuol (2) dugeSh B%6'db Serdo oo JERD
(3) ¢ dgwrido crer Jigd (#) doget Jpid Deuden ddgd
102 Alkaline earth metals are highly reactive. Because they are
{1} Electro negative in nature i2) Electro positive in nature
(3) Atomic radius increases {4) Non-metallic nature
o fu)8E Soro oo GBS &', A2 sdeo
(1) farese do dgrdo (2) & dgardo
(3} furose SSarm S8dArmo Wb (4) ws's degrdo
103 Magnesium oxide is .
(1) Acidic (2) Basic (3) MNeutral (4) Amphotenc
Sfclo w28 & Bob Searardly SDA dotucd .
(1) wsig 2) =xo (3) sy (4) &g s
CEEP-2012_A] 13 (U 1conta...

if ormati on provided here is only for reference. This nay vary tl


https://www.recruitment.guru/

WWW. recrui tment. guru

104 The element which gives dazzling light when bumt in air
it odigd DdsHerod modd wiy furedo
(1) Be 2) Ca (3) Br 4) Mg
105 If 500 ml of 0.5 M HCI solution is changed to 0.1 M strength, find out the volume of water to bt
added.
500 2uB). fud 28drmo o 0.5 M Hel prdotnd 0.1 mish drd)3855) sos Jod 49 Sodia
{1) 2500 ml {2) 1000 ml {(3) 2000 ml {(4) 1500 m)
106 How many number of moles are present in 3.2 grams of NaOH ? (Mol. wt. = 40)
32 priwe Mdoto TrariB (we grde) aliod ) dorgd Arde dogg Jos 7
(1} 0.08 {2) 0,008 (3) 0.8 (4) 125
107 Find out the volume of 0.05 M HCI required, in ml, in order to neutralise 0.2 M NaOH of 40 ml
40 9. 02 M NaOH [reduds daljsbodats, I Db, 005 M Hel wdtsin?
(1) 160 “(2) 80 (3} 45 {4 120
108 Mention the compound among the following whose acidic property can not be explained by Arhenius
theory
s3lans berosin 6 Bob .':.pgawd' BY dlugy ey Gt JoBoddm 7
(1Y CHyCOOH (2) COy (3) HC {4) HNOjy
109 1f the pH of a given solution is 9, find the concentration of [H"" ions in it,
ug [dad PH Deud 9 waud o Glug [H+] wairg s Jos?
(1) 1078 2) 10? 3) 107 @ 107
110 If the pH of a solution is zero, what will be its nature 7
(1) Acidic {2) Basic (3) Neutral (4) Amphoteric
a8 récd pH =0 sowd o rdmo 2 goge Srpd 7
(1) ey &0 2) ¥6 840 (3) 8ex gojo (4) Degimerd Gogo
111 Functional group in alcohols
wep il ploh Sduriedy
o ﬁ .
I
(1) - CHO (2) -C-OH (3) -C-0OR {4y -OH
112 Alkenes are more reactive than alkanes. This is due to
{1} Double bond (2) Triple bond
{3) Single bond (4) Valence of carbon is satisfied
by Sew, o Bo dof Japd Sovplodd 80A dotrow. B8 fo sdedu
(1) oguody SOA dode 2) Buogd) SOA sode
(1) e wogely 80A dodi 4) =% dddrand 39.5:, L]
CEEP-2012_A] 14 ||ln""umlnm“]“ [Contd...
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113 Unsaturated hydrocarbon among the following

(1) Propane (2) Butane (3) Ethene (4) Ethane

& b =36 shosy A TS

(1} @8 (2) wmrghs (3) @i (4) @Bs
114 Carbon compounds which react with Tollen's reagent

{1} Alechol {2) Aldehyde (3) Alkane (4) Alkene

585, w00l SepToch 568 Adyviis

(1) wepind (2) wédys (3) o&S (4) wbys
115 The type of coal which gives large amounts of heat

(1) Lignite (2) Bituminouscoal (3) Anthracite coal  (4) Coke

ws.a.g—nla A oD o 7

(1) o @) Do () wogpSEn  (4) e FH
116 Polysaccharide among the following

(1) Fructose (2) Glucose (3} Sucrose (4) Starch

& Lot et SDeenl

(1) p&'& (2) oS (3) amE*E (4) Dol dorgiw
117 The process of obtaining alcohol from molasses is called as .

(1} Dehydration (2) Defecation (3} Carbonation {4) Fermentation

Auertil ol wedidi ol dewd) Sotrd ?

(1) & pdss (2) 83845 (3) =Eys (4) Bmg @ifed
118 The compounds which contain Zwitter ion structurs

{1) Amino compounds (2) Acids {3) Amino acids (4) Ethers

Al Sl S A

(1) 28 sogiwen  (2) wipw (1) ba eipren (4) dagfen
119 The following catalyst is used in the hydrogenation of oils

Arded rEedEcniuds AEdbahd & Bod edpdsiui mddd

(1) Mn (2) Fe 3 M 4) Co
1200 Glass is a mixture of

Fardy reed® Ao ey Soghue w3 7

(1) Na, CO,, CaSi0,y (2) CaCOy, Al(SO,)s

(3) Na, Si0;, CaSi0, (4) BaSO;, CaCO,
CEEP-2012_A] 15 (RO BN (Contd..
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00 0 S A L ..
CEEP-2012 A
Hall Ticket Signature of
MWuraher ; the Candidate
Time : 2 Hours Total Marks : 120

Wole : Before answering the questions, read carefully the instructions given on the OMR sheet.
ardn: @ipd srwe ol wed OMR srw 3giud’ aiguds irdden wryidr ddiold.

SECTION - I (MATHEMATICS)

| Peg=
@ (p=q)¥{g=p) @ (9= p)rlp=4q).
3) pva 4) phg

2 |x/xedAB}l=
(1) {x/xeA4-B} (2) {x/xeB-A}
(3) {xixeAUB. x& A B} (4) Nome (28 scu)

H
3 i f{x)=x42 —mthm\."_:

Fley=2f - —= wcus =

(0 f(¥3+) @, f(@) @ f(¥3-1) ) f(%)

4 Ifn(d4)=5, n(B)=2 then the number of mappings from A to B is

n{A)=5 n(B)=2 wowd A uod B & rfo gibatre Sogg
(1), 25 () 10 {3 32 {4} None (08 =)

5 A root of the palynomial L2 e I}Eﬂlz o

L2011 +|[—1f“]2 W LErossl a Suredn
(1) 'I () 0 (3 -1 {4) None (28 =du)
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o
6 If a3 are the roots of x* —3x—1=0 then E+E=
am 11

afw x® —3x—1=0 & dwrotupss® —+5=
M 3 @ ;. () -3 @ -3

7 A non-convex region among the following is
& Bod naﬁ‘g:wwdmmmm?

% % (4) 284 = |

; (20112
- 2011—x
(y 200202000 2y —20m102001°2 3) 201202001 (@) 20022011
{ i § :
—_—_——t— =
> E'8

| 1 1 1
LY W @ 352 @) 3F 2 & 3520
10 o—35, a—0, o+ 3, a+33 are four numbers forming
(1) An AP with common ratio 23 {2) AGP with common difference 24
(3)! An AP with commeon difference 24 {4) A GP. with common ratioc 24
=38, a—0, o+ 0, a4+35 vl ot dogpe 329 Ardirow ?

(1) 28 2oréo pdm Ao wosdl (2) 27 dorosdin Ao fnEd
(3) 28 scroddan Ao wasdd (4) 28 #rorde Jpdmr o e B
1 =15 —47
11 Theseries 5" 7 * J'_'_sqr ..,-’_+5\."_ - forms an A.P. The common difference is
~15
ef wodddetd Scadnen —J:J'+ ﬁ3+3 WFS wpand, Sorodding Jod 7
m V2 @ 242 (3 -242 (4) None @& s
sinx
12 f':x}—mi‘f{r +f[ x]
1 3 !
(m 1 (2) 3 (3) " (4) E
TR T O S
. |
smﬂ[l- 3 ]
1—cos” #
B B s (4) None @b =)
A X5 @ X @) {k+1)(k-1)
CEEP-2012_A] 2 RGO T R 1Contd...
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14 sin®32°4sin?58°=
(1) sin®58°+cos® 42° (2) cos® 58°+sin? 32°
2 zg0 2 amn
{3) ©0s”58%+cos”32 (4) None (DA =)
15 sec? 27° —cot? 63° =
(1 3 (Z) 0 (3 1 (4) None (4 =)
16 cosec’42° —tan® 48° = ;
i -1 @ S5 31 (4) None (28 =)
17  sin®33°—sec?d47°=
(1 cos® 57° — cosec? 43° (2) cosec” 43° —sin?57°
(3) sin®S7°—sec?q3® (4) None (26 =)
18 tan’52°+5in?9° =
(1) sec?52°4c0s?9°—2 (2) sec” 52°—cos?9°+1
(3) sec? 52° - cos? 9° {4) Nomne (& wc)
19 cosec’ 10°—sin? 40° =
(1) tan®10°+sec? 40° @) cot?10°+cos” 40°
(3 tan? 10° — sec? 40° (4) None 26 s}
T,
3N=— =
0 "3
2 eno 2 ano
-["l} cos= 50 + cos” 40 {2] .m524nn_mzsﬂf
(3) sin® 40° + tan® 50° (4) None (& s
m
21 cos—=
i 2
mﬁl4ﬂ°+ in? 40° 2
n sim (2) cos® 40° - cos® 50°
(3) cos® 40°—sin? 50° {4) None (96 s
212 (x+1P +(y+2) =25 =
(1) x=25c0sf~1, y=25sind-2 (2) x=5cosf+1, y=35sinf+2
(3) x=5cosf=1, y=35sinf-2 {4) None b =)
23 (=-3)(p-4)=99=
(1) x=13cosf+7, y=4secO+7 (2) x=7Tcosf+3, y="Tseci+4
(3) x=3cosf—7, y=4sech—7 (4) x=Tcosd—3, y="Tsech-4
24 (x+1)(p+3)=25 =
{1} zx=sinf+35, y=cosecf+5 (2) x=S5sinf#—1, y=>5cosecf-13
(3) x=sinf-5, y=cosecd—5 (4) x=S5sin@+1, y=5cosect+3
CEEP-2012_A] 3 ORI - 1€ontd..
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f:—Z]Il—I:y—HJz:]ﬁ =
(1} x=2secl+4, y=2tanf+4
(3) x=2sechd—4, y=2tanf—4

1+sinf+sin®f+sin’ @+ ... +... co=
(1) sec?f+secdtand
(3) cosec’f + cosech cotf

I+cosf+cos?@icos’ 4., toas =

sin cos &
i —¢ 2 —i—
ME—E'“E ml;—ms#

gur u

(2) x=4dsecd+2, p=danf+3
4 x=dsecd—2, y=4tanf-3

2 sec” 1 —sec# tanf

(4) cosec’d —cosec f cotdl

Point of intersection of the lines x+ y=2012 ; x=y=11s

x+y=2002 ; x—y=1 Bpo podd Docudy

(1) (2012, 1) 2y (1,2012)

Slope intercept form of the line §+~£ =1is

£+§=] win O clugy e podd Gridn

b
()= x—b

(1) (2011, 2012}, (2012, 2013)
@) (2012, 2011), (2011, 2013)

] 3
Slope of the line T‘+?j’ +2012=0

ix. 3y
—+—=—+2012=0 &
3 2 p Clugy, o

4 4
M 3 @ =5

b
=% 244
2) ¥ - x4+

The line v = x +1 passes through the points
y=x+1 e fg 2 Dotuhe fom Mok ?

sin = msz
(3) —;—2-—& h ———
mniq-ms ch+Dns
(3) (2012, 2011) (41 None (D& =y,
) U - U

(2) (2009, 2011}, (2013, 2013)
(4) None & =)

® 3 @

Area of the triangle formed by the points (—194, <167), (4, 31), (83, 110) is
(194, —167), (4, 31), (B3, 110) s Sodude o Jyds Bebed

(1) 411 sg. units (411 . atirmdén)
(3) 417 sq. units (417 &, ctirden)

L] 16 x ¥

I s L e e e T
LI | B = .
a+7 b4+T a+7 b41l 4
1 1
(1 :.|+T'b+!1]
i 4
&) a---T-b+||]

CEEP-2012_A]

(2) 413 sq. units (411 &, aned)
(4) None & =c)

LS
= passes through

+L=l wdy Bp o Dodidy rboos Fhdo 7

1 I
@ (e imm

(4) (4, 4)

4 NIRRT AT RN Tt
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34 General form of the line y =2x+3 is
y=2x+13 wi fp duf Fede drddn
(1) y=2x-3 2) y=3x-2 (3) Zz—p+3=0 (4) None (b o)
35  Intercepis made by the line y = 5x—1 on the coordinate axes are
drdmep p=Sr—1 e dp Sofs wods pomrew
I 11

I I
n 31 @ -3 @3 3! @ -33

36 Areaof the triangle formed by the line 5+ =1 with the coordinate axes is

X "
Aol I+$=1 wil Sp J)00 Bebede Aug Frogie
(1) 28 sq.units (28 & atredde) (2) 14 sq. units (14 & enrdgn)
(3} 56 sq.unils (56 o enrige) (4) None (2& sci)
37 Among the following, two parallel lines are
Eob " D6 Bods Sarodd tefhy Ardaes 7
(1) 2x+2y+13=0, x+2y+11=0 (2) 3x+3p+11=0, x+y+11=0
(3) 3x=2y+1=0, dx=3y+2=0 (4) None (& s
3%  Equation of the altitude through (8, 2) of the triangle formed by the points (8, 2), (4, 6), (-1, 5) is
(8, 2), (4, 6), (-1, 5) Docued® D683 PBebudndds (8, 2) oo M vondy AlEsain
(1) x=5y—42=0 (2) x+5y+42=0 (3) Sx+y—-42=0 (4) Sx+y+42=0
39  The points 4(3,4), B(2,—1),C(-4,3) form a triangle. If D and E are the mid-points of A48 and
AC respectively, then the slope of the line DE is
A(3,4), B(2,~1),C(-4,3) Docugyes’ D585 Bebetnits AB fobotn Ac‘mmcgﬂm:im
sham D atoin E wowd, DE aug, ow

2 2 3 3
a3 @ -3 ® 3 @ -3
e R . P
40 M:dimofﬂumunbers?z.g.z.ils
| e
53 ' 43 oM e
I = @ 1 ® 3 (4) None (O8 =)

41  The reciprocal of the arithmetic mean of the reciprocals of the numbers 3 and 3 is

3,5mmﬁu&mm§mqﬁmmmé&nﬁ‘m
1 15 4
(1) 4 (2) % (3) ) 4 1—5“
42  The sum of 30 observations is 540. Then, their mean is
30 wodivoe Auddu S40 woud, g ik

(1) 54 2) 81 (3) 18 (4) None (D5 ss)
43 Inadata, an observation with the highest frequency is called
(1) Mean (2) Median (3) Mode {4) MNone
a8 derofind®, a8 A5 Srbidpin fo wofdol Jlledd 7
(1) wod ridasy den  (2) duigrissn (3) mirogdsn 4) & =)
G
CEER-ALAl s N (Coned-.
——
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44  Empirical relationship between mean, median and mode is
(1) Mode + Median = 4 Median — 3 Mean (2) Mode — Median = 2 (Median — Mean)
= (3) Mode — Median = 2 (Median + Mean) (4) None
sos s Sughiiin. Sgenadn Hbol ndutive wierdd dovodo
(1) EirRsiL + dogprdin = 4 Sgpriaan — 3 sof rddd aviey
(2) wirovsin —Sgpiadn = 2 (@ggrean - wos Adad )
(3) wdrovsin - fogpridan = 2 (Guggridan + wos Adad drit)

(4) (D& e
_{1 2 -
45 .-1‘-[2 ]:| = 4 =
4 4 1 )
(1) [: 1:| (2) [1 J 3 [I J (4) None (& =)

46  Which of the fallowing products is commuiative 7
& fod de' D0%ad egren 20 7

=3 4|2 1 4 - 2 o 0N 6 .
M | IJJ [u 9:| (2) |:3 57:|g 4;| (3) [| ‘:MU' ]J (4) None 6 =)
i
47 IfA-[: Jmmu}ﬂ i s
[x i
*‘1=E ';Imﬂuﬁzcradel{_.l}zﬂ wossd x=
(1) £3 2) +4 (@) +2 {4) None (26 =)

48  The product of the matrices 4, B and € is associative means
A, B oty € amBse ogto srddy mpobin eisst

(1) AB=aC (2) A(BC)=(48)C
(3) A+(B+C)=(d+B)+C (4) None @b s
49  Calculate the mean for the following data ; -

& (808 derotiud ity S5 B08

Class Interval

“;'f; TV 020 | 50-100 IM-—ISD]IH}—M 200 - 250 ﬁn-m]
Pitaency. | o 15 2 2% 12 7
rtapipsie;

() 145 [2) 245 @) 143 (4) 144

50 For the data 99, 100, 101, 102, 103, 104, 105, 106, 107, the value of the mode is
99, 100, 101, 102, 103, 104, 105, 106, 107 Sepofhusk: erdroglin Deod
(1) 103.25 (2) 10299
3) 1043 (4) does not exist @)

51  The formula to find arithmetic mean ¥ using the deviation method is
m;gm:ga {deviation method) croor Aty SauRMit Arlin X =

1 [& 1 [&
(1) A+E ?_ﬂu,] @ 5 ?_ﬁu‘ x
1 &
@) A+g [ fim|xC (4) Nome (26 =eu)
1
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92 AABC-APQOR.If AB=36, PO=24, PR=54, AC="
(1) 3.6 (2) 8l (3) 5.4 4) 6.8
53 Inthe adjacent figure < 4 =60°and 4B, AC are tangents. Then OB =7
] B
) 63em () 6em (3 ™ @) 6J2em ;
E A .‘ﬁ‘
0 Sogore fie 2yl AB, AC fy Spes. £ A =60 wewd OF =7 ""
& C
(1) 63 oy, (@) 6 med. (3) N1 Bodb. (4} 642 Bod.

A
54 Inthe figure /B is obtuse, then AC? =
£B wbg Smore e Dged® 40 =
o ¢
(1) 48%+BC?-BD? ) AB*4BC*
(3) AB*+BC?+2BC-DB (4) AB*+BC*-2BC-DB
55 ABCD is a trapezium with AB| DC.If AC and BD intersect at £ and AAED and ABEC are
similar, then
ABCD % wow Séudyymed® AB|| DC, AC fuboto BD o E 3¢ vobodtdy AAED, ABEC =
dard Pebainds. H
(1) AD= AR (2) AD=BC 3) AD=DB 4) AD=AC

56 If AR:¥Z = BC: XY = AC: XZ then A 4ABC is similar to
AB:YZ =BC: XY = AC: XZ wond ABC Bobesindd: Sob Bgbeiin aid Hdrd Slebu, eb

(1) AXYZ (2) AZYX 3) AZXY (4) AACHE

57 A triangle and a parallelogram each have the same base of 8 cm and area of 40 sg.cm, then their
heights are
18 Brbain, SrosS St S5 gl 8304, SEmd Progind0 Do £8n ey o
ard aifpen SJod 7
(1) 8 4 2y 10, 5 (3) 40, 20 (4 6, 4

58  ABC is an isosceles right angled triangle, /(" = 90° then 452 =
£C=90° m o ABC sdvburirs Bebestns® 8% =

(1 AC? @) 24C* () BC? @) 34C?

59  Computer science is also called as 3 )
(1) Informatics (2) Physics (3) Chemistry {4) General studies
goirpeel vy Dererdy eer droe besird,

(1) =S>8 (2) &as wipaa (3) orotd wigdn  (4) Aorde ddg
60  Meaning of an algorithm

(1) Method of solving the problem (2) Table

(3) Figume {4) Lines

sSTBGo sHm

(1) st »pod 558 (2) sde (3) oo (4) Ase
CEEP-2012_A] 7 (R R R rcontd...
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SECTION - II (PHYSICS)

61 Inascrew gauge, if the zeroth division of the head scale is above the index line, then the camection is

(1) MNegative i2) Positive
(3) May be positive or negative (4} Mo need of corrcction
Amafled® dolpen drdp Depvide Ard Bp J0SS o). d3de
(1) awerd)go (4] fardido
(3) gordygo B¢ wwmmeso (4) Hbde windo dd
62 Heliocentric theory was first proposed by '
(1) Galileo (2) Kepler (3) Tolemey (4) Copemicus
ardg Boss Boroding Aucdrem BBFECTLE
(1) AdDar (2) =36 (3) ey (4) #a0e0

63 A body moves from one corner of an equilateral triangle of side 10 cm to the same corner. Then
the distance moved and displacement are respectively =
a8 355 10 Do, ghedy e dderdr Bebe 18 Jdo 208 wofieuds 384 of Bdiud d63 & S
pafrmo S drdo, frigodine Sdim
(1} 30 em, 20 cm (30 Do S, 20 odu) {2) 30 cm, 0 cm (30 o, 0 Bo.du)
{3) 0cm, 30 em (0 Dod, 30 Totn) {4) 30 em, 30 cm (30 2ofu. 30 Bode)

64 Two balls are falling freely from the heights with a ratio of 9:64 towards the earth. Find the
ratio of their velocities on reaching surface of the earth.
Bl moia Bl 358 o Mo fod bedy m dr3d Setidemon ol @ adderly dddd
308 8 dro 38
(1) 34 (2) 43 (3) B3 4]

65 Onaplanetastone projected vertically upwards with a velocity of Iﬂml'sa:mch:s &I:]'ughmpl:rm’.
after 2 seconds. If it is thrown with a veloeity of 20 m/sec, it reaches the highest point after a time of
L8 pirop 10 D% Sl Dplendre DNOS v 2 ) wood® A8 Jdd Sdeed. odD 20
o8 Dhosst b ABY Mt dawd Swees
(1) Isec (0 nsa) (2) 2 sec (2 msge) (3) 4sec (4 ndfd)  (4) 6 sec (b nfd)

66 A car moves from A to B with a constant speed of 20 kmph and then from & to A with a constant
speed of 30 kmph, then the average speed of the car is
nf i A fuod B 20 Bhu. / Ao, A20388° How, B8R B iuol A £ 30 Bl /ro, 42588 B8R 3D @

T Aend 24
(1) 24 kmph 2423, { o) (2) 25 kmph (2585, / do)
(3) 10 kmph (10 8.5 / do. (4) Zero (drigo)

67 The ratio of angular speeds of minutes hand and hour hand of a waich is
a8 ABofrdo &' Dlwddue Sug oty fobe Swwo Bdad ddwe JHE
) 1z12 ) 6:1 (3 12:1 4) 1:6
68 If a body of mass 5 kg revolves in a horizontal circle of radius 1 m with a frequency of
7 revolutions/second, the centripetal force acting on the body is
5 Bdf |ddpod o a8 30 | ded opindo do dde yped Ardod! HShed 7 glsdun dir

Baidins, » spap 8% efdog weo

(1) 440 N (440 arpestis) (2) 484 N (484 frpid)
(3) 968 N (968 argoi) (4) 9680 N (9680 arghsn)
CEEP-2012_A] 8 O IO € ot
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69  The time period of oscillation of simple pendulum is doubled when
{1} Its length is doubled
(2) The mass of the bob is doubled
(3} Tts length is made four times
{4} The mass of the bob and the length of the pendulum are doubled
ef efu Slofo dugy Slooddd sedul Bed Scnssdd
(1) = ragen Bdon dasaai,
(2) Fwg (G530 Bgod Janbddiy
(3) oD draday oewh By Jondam.
(4) Rlog gsgedd boty Soth DdHd Boh Satism.
70 Acurved road of 50 m radius is banked at certain angle for a given speed. ITthe speed is to be doubled
keeping the same banking angle, the radius of the curvature of the road is to be changed to
50 e Trgdrgo Ao o SyEE0 drgo o8 Irll Pow SHEASE. ol Tws'ed sol. I aged
Solid@di & Syged g ogdeiy ™ Angy285.
(1) 25 m 5 b (2)-100m o0&y (3) 150 m (0505  (4) 200 m (20000
71  The one that is not an example for electromagnetic wave is
(1} X-rays (2) -y-rays (3) Radio waves {4) Sound waves
% Bl ' DB waldmod ddoddun doirdn T
(1) X - Ededwen (2) 7~ Bomdoen (3) dadr ddoddwen (4) Gud ddaribwm
72 Velocity of sound is measured in hydrogen and oxygen gases at a given temperature. The ratio of
two velocities ¥ /¥, will be
aigudd adfids 30 adads’d ¢ob Sdinde, wlebe' ged Jtudd V[V, de 248
(1 1:4 2) 4:1 3 1:1 4) 32:1
73 Ina stationary wave the distance between an antinode and an alternate antinode is
¥ B ddorind® wl @ijodd Prdo. ool Sdordl 5 DBAE Gnosd Filue Sy drde
3

A A
(M A @ 3 8% @

74 The velocity of sound in air is 360 m/sec while that in water is 1440 m/sec. If the wavelength of
sound in air 15 2 cm that in water is
mEe* g2l Sdo 360 D, | %, A gied Ao 1440 &, . mBS* 480 Bdo 2 o.dh. wond ME* sdon

Bége
(1) 0.5 cm w05 2ed)i2) 2em @by (3) Sem @ nel) (4) 16 cm (146 Bodn)

75  The frequency range of microwaves is

R ddorre Ddgerge el
{1} 10°Hz to 10" Hz (2) 10°Hzto 108 Hz
(3) 10°Hzto 10°Hz (4) 102 Hzto 10 He

76 Velocity of light in glass is 2 * 108 m/sec. The refractive index of glass is
e ;o8 ddo 2 % 108 o/ . e aflgtd Aonto

2 3 4 9
m 3 @5 @ 3 ™3
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